Nes)
)

el

S

4

mﬁ

M1 a=2+2i, 8=3+i DR XOMIZEZ
(1) |af, 18| KD, o] = V22 +22=2V2, || =3+1=2
2) a, & ZNEFNBFRTEL,

a = 2\[(+Z>—2\6<COSZ+’iSiHZ>

V2 V2
B V3 1\ T T
g = 2<2+22 —Q(CObg—i-Zblllg)
(@(w,%%%M%M@%ﬁfﬁﬁo
om om
aff = 4\/§(COb 12+Zbln 12)
o 7 T
E = \/§<CObE+%mE>

BRE2 |a| =2, || =30k E, OMEEKD X,
(1) [aBl =|allf/=2x3=6 (2) [o’] =|af’=2"=38

al o] 2 B 6l 3
@) |z =3 =3 4) || =7 5=7
Bl Bl 3 o a4
1 2
ﬁ%Sz:l—i®t%\F——’®@%*®io
z
1 1 1+i 1 .
z—le—mu——il—f PR L S PPN
z (1 —14)(1419) 2 2 2
1 1 LB _10_5
T T2 T eT Y T

BIRE 4 ROERB 2 BE A TR,

(1) 2¢::2<amg¥+zgng)

(2) —5 =5(cosm +isinm)

3 1 = =
(3) —V3+i :2<—\2[+2i> :2<Cosog+isinog>

3v/3 + 3 3 1
(4) J;'Z:3<é+f>=3@%g+mmg>



